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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B.C & D to each question

are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

1.1.

10.

11.

12.

The energy stored in coal is: ..f‘:.;ﬁ}h}a/fjuu?/ 1.3
(A) Heat energy (/1o (B) Kinetic energy [3—.;]\-@:[;(

(C) Chemical energy 'Li}fd?-’ (D) Nuclear energy szfﬁ:

What should be the approximate length of a glass tube to UI.A:FJ.LJJ.T;;E JE‘:}L{ b flypk [515 2
construct a water barometer? "‘&ﬂpydmf)

(A) 0.5m (B) 1m (C) 2.5m (D) 11m

On Celsius scale, the temperature 300K will be. -fﬁSﬂDK,é-/f;J:C Ji"k’ 3
(A) 26C° (B) 25C° (C) 24C° (D) 27C°

In gases heat is mainly transferred by. e fben e It - 4
(A) Molecular collision  5.564,9 (B) Conduction o~

(C) Convection ut‘g,v'fl (D) Radiation w"’-fldg,r

Volume of 1 litre is equal to : _{_t‘ﬂzb:/”‘l' B
(A) 1cm?® (B) 10cm® . 100cm (D) 1000cm?®

Cheetah can run at a full speed of: ?%CCJJJ;VL%;J{JLJLBJLJ% .6
(A) 60kmh" (B) 70kmh" (C) 80kmh" (D) 90kmh"’

A ball is thrown vertically upward, its velocity at the highest pointis: - (eSSt gatdizie L bt S Al LT 7
(A) -10ms™ (B) Zero (C) 10ms™ (D) none of these

Which of the following material lowers friction when end U S ShzuAdf M e S o .8
pushed between metal plates? ?:f_.al?ﬁfc/g:}wyuéul;.é’;

(A) Water (| (B) Fine marble powderss§,

(C) Air  Ix (D) oil ST

A boy jumps out of moving bus.There is a danger for him to fall. _‘;_u)ib’é_f.._i)ﬂm_ri;bbﬁf W e J{JHJ% KL .9
(A) towards the moving bus 3 A8 0552 (B) away from the bus e /*

(C) in the direction of motion uﬁwJ.-vC? (D) opposite to the direction of motion JZMJ{?JL:?:'
Two equal but unlike paralle! forces having different SNSRI p i ZSsmn .10
line of action produce. | _ugaﬁé«;xﬁ

(A) a tarque ¢ (B) a couple S (C) equilibrium EAE1 (D) neutral equilibrium EASE I A
A force of 10N is making an angle of 30° with horizontal. ‘;-_ai;:fsuKSU“Jb& /-(l-xw;’._ﬁJuf:&‘iO k&
its horizontal component will be: . -E?ﬁw:;rf“;fb’wﬁw

(A) 4N (B) 5N (C) 7N (D) 8.7N

The value of g at a height one earth's radius above the surface of earth is: wﬁLJ!?{LfﬁJ:LfJL-‘J: Jésﬁoﬁ};oﬁjgﬁ:Jg 12
(A) 29 (B) % g © 1, (D) % 2

3
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S.8.C - (Part-1) -A-2015

RollNo..._..._.___ «/oinyl ( New course;New scheme ) | Subject Code 5|0
Sessions:2012-2014,2013-2015 & 2014-201 6 -
PhySiCS (Essay Type) Group-I--» Z(&1) t//?
Marks: 63 Time: 2:45 Hours & 2:45:=53 63:
Section-1 2x16=32 dil.b
2.Write short answers of any five parts from the following. 2x5=10 -cﬁdaglﬁﬁ';:fifizJél;.:pgjfcﬁufdj[w-;?
i. Define base quantities and base units. ‘ _l_,jf...é' ;"’JJ};J;‘L;:;M:AJJJJH N
i. What is meant by significant figures and how many 2&0.02?%9:!/5_—’2:, Jraaftii
significant figures are there in 0.0277 V=
i Define rotatory motion and give an example. Ll S TS K i
iv. Sketch a graph of an nbject moving with uniform acceleration. il L:‘._:Ifﬁ’ Ly S f}'.:.a)“flphff v
v. A sprinter completes its 100m race in 12s. Find its average speed. :f('l"“.:»-"'}.r.!'JJl L'C'/(/L;J' Jﬂ"IODJ,«P‘iZqub_U V
vi. Define force and its SI unit. _L‘{)Lgfﬂg,..:,_’ SI L ’r?:-_.ﬂflf.:..w Vi
vii. What is centripetal force? Write down its formula. U2 AU e P e Jsd SRS il
viii. How much force is needed to prevent a body of mass 10kg from falling? ":‘jmbﬂ:w;‘ffé_iéiuc_.e_):( ':CJL;'I/P 10 viii
3-Write short answers of any six parts from the following. 2x6=12 _ﬁqmyﬁﬁgﬁﬂ?w;&fauﬂgfj@:ﬁ
i. Define head to tail rule. J/‘:.s'; fJuJ—h-—* A
ii. Define axis of rotation. 4 f...iij"u- =3, ‘l/»fl i
iii. Define principle of moments. ' A ASIA L e i
v, Definefimd force. _L_g_’f._.gy'uw;’il_«." R\
v. Define gravitational field strength. : - :/._yj‘u".::sw&tljj*—‘dgf v
vi. Define work and write its unit. ..L,r:"ﬁ:;;fls;l.uau:f_.y /"'J..,GJ Vi
vii. Which are the kinds of machenical energy? 'i'L,_r;rL-J"lu"Er(Jl'LﬂE)!ﬁﬂ'g Vil
viii. A budy of mass 0.5Kg. strikes the ground with the velocity of J’md}?[}/{zoc_@ﬂ J-<-0.5kg L,’LE?(;-.Q Viii
20ms'. Find its Kinetic energy. ‘Lg/?'}“-’d.}i_@JE’JJ!_?brfcd
ix. Define n.uc1ear energy. _.,,{fx_i_*f.'*d/ﬂ}fﬁs:é AX
4-Write short answers of any five paits from the followiné. 2x5=10 -ﬁgmtifﬁyf_pﬁ?f(itc;éfgd ;,J':vt,.u-4
i, How "Plasma" the fourth state of matter is formed? Wy L,-;-*ac: L ._JLplf( Sask i
ii. Define density and write down its equation. A7 ety (5% i
iii. How evaporation differs from vaporization? oo AL AU e P Fagp i
iv. What will be the temperature on kelvin scale of temperature {J:CJ?J‘“:,E ?é:;{,’@'—;;:l;._}:ﬁu.-k’f AV
when it is 20°C on celsius scale? - | _:;:_EE}“C/,;,-:_,}.
v. What is difference between heat and temperature? ‘e A s e ? N
vi. Define and write down the mathematical form of latent heat of fusion. -L_g);«fvﬁduuF..é{,ﬁJgﬁiinLL«vf Vi 1'
vii. What causes a glider to remain in the air? e s Fq_;uflyrsiéflg vii

viii. Write down the two uses of conductor and non conductor. ﬂ;’)::f_-; e TP }aﬂlﬂbtgsf}fi‘f Viii



Section -II
Note: Answer any three questions from the following. ~ 7x3=21
5. (@) prove it graphically by diagram. S=If’ft+1§a!2 04
(b) A screw gauge has 50 divisions on its circular scale. 03
The pitch of the screw gauge is 0.5mm. What is
its least count in centimeter?
6. (2) Explain stable and unstable equilibrium with examples. 04
(b) A bullet of mass 20g is fired from gun with a 03
muzzle velocity 100ms™. Find recoil of the gun
if its mass is 5kg.
7. (2) Define force of gravity and with the help of law of 04
gravitation find the mass of earth.
(b) A body of mass 50kg is raised to @ height of 3m. 03
What is its Potential energy?
8. (a) Derive a formula to find pressure in liquids. 04

(b) A steel wire 1m long and cross sectional area 5x10°m? 03
is stretched through 1mm by a force of 10,000N.
Find the Young's modulus of the wire.
9. (ai Explain the applications and consequences of radiation. 04
(b) How much ice will meit by 50000j of heat? While latent 03
heat of fusion of ice is 336000jkg™.
Section -I1I(Practicat )
Note: Answer any two parts jrom the following.
40-4. Zero error of screw gaugdl=-0.06mm for given sphere.
Main scale reading of sc Iw gauge=4.5mm,

circular scale reading=27.!Find volume of sphere.

5x2=10

L)

r::,.-»
-g{:‘éffa&fﬁﬁaﬂvcfa.df&;ﬂdj@u 2y

S=V:‘r+%at2-g‘§(..«,«;& S S (O 5

$Ti Pt n50 15 SELILT ()
Se YUK e e 0.5mmE

e U S EASE i BB () 6
.c;dtL{Jsﬁf&ilsJU%deJLrl)ﬂ2U~g (,__,)
L;"IJJ JJLEJA:-J;U}:-QJ DDm5'1 .::‘a;zﬁ

-¢-5kg BB
Sty i fSl ST () T
u éF:L“J LB e 2k
S K3 L\ 50 (&)
. ;_;'@?}"‘L;JF Jaf e

Lt Sk el (B 8
.;_g;:d#?w/ 5x10Sm2 L AL L5t (o)
suMmmutdUSUie i 6Uri10000N
-J__)}-Pdsrﬁmf_df’.q_ﬂfﬁ
g Sl S ELAOWE Aust () 8
Szt TJ&f SuFe i Sres7)250000 ()
< 336000jkg"! =2 sk
« )
=Y 1 .{/f@k!ﬁﬁ.plz fss ;-(jﬁéf.-pdglf 3lun |
&y i B ooy b0.06= sy KBS A0
27= LN b 5= L SE RS
-éf-FJl"rAIJVﬁE’

B. With the reference of free fall method find the value of (gcms ™) if: _ﬁéf—F:L”.:.-EJ (gems e d L2 FEJ5S) B

X Lebssfor B Ko S Mles
Time for ten viberations Perpendicular distance covered by metallic hob
Sec Cnmt
16.2 81.0
16.3 82.0
16.4 83.1
C. Draw a graph between load and extension. -dch'fuJ"VJJL(JLZ"JJP)(;)'MUJUJJ C
Load 3#(N) 0.1 0.3 0.5 0.7
Extension i i/ (cm)| 1.0 2.0 3.0 4.0

226-09-A-




§f§ ‘LA( S.8.C - (Part-I)-A- 2015

Roll No.__ _ /ot | (New course;New scheme)| PaperCode | 5 | 4 | 7 | 4
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question

are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

1.1. Absolute zero is equal to: — breslzsgisndmd 1.1
(A) 273°C (B) -273°C (C) 100°C (D) 212°F
2. In solids, heat is transfered by: —%%/LE’&JL&J@U:(‘L'?UJ‘? 2
(A) Conduction *%  (B) Convection % (C) Radiation ¢S4, (D) Absorption /!
3. The least count of metre rod is: RN (O 1)
(A) 1mm (B) 0.01m {C) 0.01cm (D) 0.01mm
4. Which graph represents a uniform acceleration? ?r;_f/:frigfu?)"qrxlifidijf 4
V A v V v
(A) (B) (C) (D) /
t
t t t
5. The unit of acceleration is: _.:‘:__dfgﬁc)'b")’gl B
(A) Kmh- (B) mS™ (C) Kmh™ | (D) KmS™
6. If velocity of the body becomes double, then centripetal force will be: _Jﬁu.f}di#dﬁ:;_Lmngﬁ;d'u;Jﬁ 6
(A) Half 3l (B) Three times greater sl 672
(C) Double & (D) Four times greater »slJ lré.[._?
7. Inertia depends upon: u.;bﬂJufFI{HLﬁ}I 7
(A) mass Ul (B) Weight (/s (C) Velocity (5Us (D) Netforce Urhes
8. The states of equilibrium are: | _ _Lgufjblfrijd:gf 8
(A) 2 | (B) 3 (C) 4 (D) 5
9. Aforce of 10N is making an angle 30° with x-axis. The Qbesl ¥ 30° AL y'-"/f—xw;’ (15210 .9
horizontal component of this force will be: -h’?—m_-fr._.f@j IE’JJ;UL:;_
(A) 4N (B) 7N (C) 5N (D) 8.7N
10. Earth gravitational force vanishes at: 4{:."31.::-:':..,#' EJxJ’ﬂd{fJﬁij 10
(A) Infinity Lelsset (B) 6400Km (C) 1000Km (D) 42300Km
11. The work will be maximum when angle between L,l-aliulw}fﬁm;yc_ u,fJ; A3
_ force and displacement is: ~&Ustgslief s
- (A) 45° (B) 0° (€) 60° (D) 90°
12. In S.I system, the unit of Young modulus is: _awﬁﬁu'ijt‘.f:dd’}!{‘/ 42
(A) Nm (B) Nm-" (C) Nm-2 (D) Nm-3
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Roll No. o Sinei | (New course;New scheme ) | SubjectCode| 5| 0 ) 4 |7

Sessions:2012-2014,2013-2015 & 2014-2016
PhySiCS (Essay Type) GI‘OI.IP-II--.;:/ (:.fo'Jl) J(y

Marks: 63 Time: 2:45 Hours £ 2:45:=% 63:
Section-I 2x16=32 Jilﬁb
2-Write short answers of any five parts from the following. 2x5=10 " j’g.:,-l,fﬁ/"“?é’.rlmég:.d:‘::..uﬂdhjzw-Z
i. Define Atomic Physics and nuclear Physics. -é?UJjTJﬁfﬂﬁﬂlﬁJlrl i
i. What do you know about basic and derived quantities? “r_}*.:_,l.aLf Tt AL U3t dals i
iii. Differentiate between distance and displacement. - ;[uw/u:wfm.uu il
iv. Derive first equation of motion. iz_:__ff:;r:,i.-u&:iu’cf} AV
v. What is meant by gravitational acceleration? Write its value. w.i:’gaEJw?.;.;w’a_Jf}”ﬂuﬁdgf N
vi. Differentiate between sliding friction and rolling friction. s Edﬁufﬁhﬁuuiﬁjlw Vi
vii. What is the law of conservation of momentum? T‘f_gwﬁﬁ‘gﬁszfﬁﬁf Vil
viii. Find the acceleration produced by a force of JJJ’J1UDNL,ET()'..Q£JL(J}}50 Vi
100N in a mass of 50kg. _ ; TL(L)"&;:}:E/V"(‘EU’
3-Write short answers of any Six parts from the following. 2x6=12 -é?aayfﬁﬁgﬁplzgaﬁfauﬁdjau&
i. What is meant by centre of gravity? “c;.:ybf.:;ﬁfff §T ek
ii. Explain the first condition of equilibrium. | J/H:L::UL/J“’J(/LSJ..
iii. What is meant by couple. | "‘c..a/Lﬂ:.J( i
iv. What is meant by gravitational field strength? Explain. . .-_f:;u-f‘c.:/v JLQJJL’WJ}J; Av
v. On what factors the orbital speed of satellite depends? e df/-"f}u:/;_, uu:, .Jf.u* J_z Ty L, v
vi. What is meant by the efficiency of a system? ?ﬁl-ﬁfg-:'_- L}“*'U’_,IJ(""LS’K Vi
vii. Define Kinetic energy and write its formuia. | - _j"’ﬂl,J:*;EEUu;Jé{_g;U&)I.,@JE’ Vil
viii. A man has pulled a cart through 35m applying a force of 300N. EE 35S 6kl e se IS B00NG L vii '
Find the work done by the man. ,chPJj:f Ll bed S
ix. How is energy converted from one form to another? Explain. _éy&;?;f__ et S d PLSG A ix
4-Write short answers of any five parts from the following. w5=10 vz Al anble (e it n-4
i. Define density and write its unit, _ufg_:;;_’b"urﬁu_f_g/-"\f&'&j A
i. Describe two applications of Pascal Law. _ur'/r-*lbjublu.-:iu,u" I.TLJ':L i
iii. Define the terms heat and temperature. _ #Jhﬁ/"( o= b i “it,(,r~ﬁ-luxlf il
iv. Define latent heat of fusion. _&uﬂ/ Md{f:lhﬁf v
v. How temperature effects evaporation? S barilbi e x._,, zrﬂf/-‘ v
vi, Define thermal expansion. ' sl Al d-r'? Vi
vii. Define conduction and give its example. - -Q-JL,;L“'I*'JT—-"{/’ " Vi

viii. Which are four faces (surfaces) of Laslie's cube? ' vdmf .rb;, /d 52 viii




w

Section -1II (322
...J/Cffl..-«u.?éum!"ut Ld’rdrptd’:b.u I--".,I
_J el SE I Sz g () 5

ful u‘ﬁ,/f_'__u ([J.!,f‘lmm LJLLH—#’ (l--n‘)
SO

Note: Answer any three questions from the following.  7x3=21

5. (a) Explain in detail the uniform velocity and uniform acceleration. 04

(b) Your hair grow at the rate of 1mm per day. Find their 03

: _J e Uinms I Al
_J/uw_)ué‘u(u"/_ rf._;fou/ﬁ(..;ﬂ) 6

growth rate in nms™',

6. (a) Define friction. Give two methods of reducing friction. 04
(b) The steering wheel of a car has a radius 16cm. Find -‘-__('1GJME'J$J¢ mf ()
Torque produced by a couple of SON. 03 -L,{/F'}"‘JL*LIF.-;__::!&;:._L,{
7. (a) Find the value of mass of the earth? 04 _ULJ?JL’L’LE'@J (I 7
(b) A block weighing 20N is lifted 6m vertically upward. 03 Ul LHBmle J___,;.ui,uf_rig;};.-zom.,_ﬁ ()

LI E I A
| 8. (a) On which law the breaking system in vehicles works? Explain. 04 _rjf::-.,:t.'as?.-:_ er?s’,;dfu?"’._@zmg}ﬁ (D .8

-’ 5 i i
| (b) A wooden block measuring 40cmx10cmx5em has a 03 o SLSSALLS L. 40cmx10cmxSem (o)
e FL e 850gUY

: ff:' Uﬂ'.:-u:cgbxﬁ':_.. CALLN, fl--rl('.-ﬂll) Y

9. (a) What measures do you suggest to conserve energy in houses? 04 Ly

03 L £65°Ce10°CLAY L F0.5 ()

,.r

i Calculate the potential energy stored in it.

mass 850g. Find the density of wooden block.

' (b) How much heat is required to increase the temperature

of 0.5kg of water from 10°C 10 65°C? ¥ fubmlwg‘r[’- L e

Section -III(Practical ) (J’g ) ﬂm
S S ezl .:f;fj.sa,dé- S5t ¥

&, ;;Fu.i-ﬁ.?L(D OLL,-)T..;',?';_,J,A:M# S0
e 0.8 Sl s gl
apf )}J’fﬁufnw/@jdﬂ 3/)
e d frgloms?y e 1L E SLJS) B

__HJI;'_E-’-(

Note: Answer any two parts from the following. 5x2=10

10-A. Define negative zero error. Apply zero correction on a cylinder of
diameter 0.8cm measured by a vernier callipers having posilive
sero error 0.01cm. Find correcled diameter of cylinder.

B. With the reference of free fall method, find the value of "g(cms™)"

W
SN0, S bbofer Sl Ko Bles
Time for ten vibration Perpendicular distance coverec by metallic bob
t(sec) h(cm)
4.27 90
419 85
4.00 80

C.  Density of waler at room temperature. _L:"’E:‘JL'E-HZ-/;{?(& =d,=0.292Kgm"

Weight of a body in air. iu,'}:E“r)*uﬂi:f =W,=0.050N
Weight of a body in water. ,;_-,J.F:K('Lf.fjg =W2=U.U45N

By using the above given data find the density of a uLJ.:.JgE._x.L)U%}I:“ ki &z
body heavier than water by Archimede's principle. _gf-',/'Pc;deLu .JJ'”; ¢ Um
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question

are given.Which answer you consider correct, fill the corfesponding circle A,B,C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

1.1,

10.

1.

B o3

In system international, the unit of power is:

(A) Watt =1 (B) Volt s
Mechanical advantage of screw Jack is:

(A) M =;r—? (B) M =%

In system international, the unit of pressure is:
(A) Nm (B) Nm™

Co-efficient of linear expansion is expressed by.
(A) @ B) f

The book "Al manazar" was written by;

(A) Alkundi S (B) Al-Berumi (s

The unit of velocity is.

(A) ms™ (B) ms™

. The rate of change of velocity is known as:

(A) Displacement MJj (B) Acceleration ﬁ)’gf
In system international, the unit of momentum is:
(A) ms™ (B) ms™?

______is vector quantity.

(A) Velocity (51 (B) Speed Lx

sin@ is equal to:

(A) Perpendicular  ,,f (B) Base ya

Base pself Hypotenuse

The equation of Torque is:

v’

(A) F=ma B) 4, =—
”
In system international, the value of "G" is:

(A) 557x10""Nm*Kg?  (B) 6.67x10"""NmKg™2

(C) Joule 2
(C) Mzzih

/
(C) Nm™
(e

(C) m

(C) Motion (/»

(C) Ns

(C) Mass

(€) Base ol

_i-_:;gé;*_t,u:u“;ﬁ:(”' 1

(D) Newton (/s

_Lbﬂﬁ;silﬂ‘:ﬁ__@f/{'
y=2r
(D) P

2

e 82 S 3

(B) N

e bR A S 4

(D) #

5 e N g
. (C) Ibn-ul-Haithem (yfuﬁl (D) Aristotle  #1

—e K
(D) ms
S PSS LS s

(D) Distance J<k
_;l;_,..f.:gﬁ’(""?ufcfé: o
(D) Ns
-
(D) Time (¢

_rT"_.,{L,; sin &

(D) Perpendicular ,,f

Perpendi;ular Y 4

(C) J=rF

(C) 6.67x10""Nm?Kg

333-00-A-T¢ W

Hypotenuse 3,

....:'_..:J:LF‘JJU
©) J==

b |

F -
-‘EF_A:*E'J “G” w‘)‘/_}:]‘r’/ .‘12

(D) 6.67Nm*Kg™



L]

5.58.C - (Part-I) -A-2015

Roll No. «/pimetl (Old course;Old scheme) Subject Code| 1 | 4
_ | Session: 2011-2013
Ph}’SlCS (Essay Type) Grnup-II-.f:/
Marks: 48 Time: 1:45 Hours &£ 1:45:23
Section-I 2x15=30
2-Write short answers of any five parts from the foliowing. 2x5=10

:
I
il

ii.

Define Plazma Physics.
Write two achievements of Alberuni.

What is the use of Vernier Calipers and what is its least count?

0 P

48 :
#Jdl’il.m
Ll:"/‘"s':-fl.? fél.-:'..-ljff_-u’-'d' G2

=" fs-ﬂf‘d’u’}w .
-Lfdg'_.bﬁ.!ﬁ-dj/‘]l' _
Tc_t':’lr"...afb’u»«h’b’i,b,i,;_t;rg’uf /Jff,ﬂ

iv. What is meant by proportionality constant? feslrl Ve 257K ﬁ,ﬂu v
v. A car covers a distance of 400m in 20S. What will be _ﬂ;_&/fb_uck.?zom;ﬂmo KL
~ its average speed? ?Jﬁgﬂﬁml
vi. What is uniform speed? Sesl W brply Vi
vii. Define force and its unit. _u_’/._gﬁ;fgﬁgémlw} Vii
viil. Write two methods to reduce friction. u"g& )’::Z.i.ff:)"';" Viii
3-Write short answers of any five parts from the following. 2x5=10 #UHLL?/";LH? iés,;.d)}_«..u: J;bﬂ-S
i. Define resultant vector. é':.n!fd//f 2y i
ii. What are the rectangular components of a vector? ?..;.:y_bfc.u'!x,r))@gﬁfﬂ i
iii. Define centre of gravity. -éﬁgﬂfagﬂ?}l‘ il
iv. Define Torque. c’f;dj:"d’.f ¢ .iv
v. What is Centrifugal force? *‘::.drbrw:’ﬁ-’d/“ v
vi. Describe the variation in the value of "g" with Altitude. é&b:@‘ WUn L..u’d’ “q ALk i
vii. Define potential energy. -é(...y]’&,?.;ld"?? Vi
viii. State the law of conservation of energy. é)lxu" ASTFa P S0 i
4-Write short answers of any five parts from the following. 2x5=10 qf.’duLW/‘l‘f-flflévL;[j;&L;JJCﬂ-d-
i. Write the names of parts of a screw jack. .-i’?'tf.uﬂ"éi.éha N
ii. Define Effort and Load. 4}"/_&/’(,( st Al
iii. What is meant by wheel and axle? ) /"Lf;:..J""/ s il
iv. State Hook's law. -'g-f-,wﬁs'&; iV
v. Define buoyant force. _év‘:.yfzf;_ﬂ;’(ﬂ)t{f v
vi. Write the units of stress and strain. &4 L posl e i
vii. What is meant by anomalous expension of water? T%-JL/?::’-—?H&JFF'L-LJ_.L_ Vil
viii. How is heat transfered through "conduction"? ?%.JJ’IZ/)’L/ = J..::ulx”c‘i_ﬁ{:[_-,'y 2 viii
Section -II (22
Note: Answer any two questions from the following. 9x2=18 sl I;f@@[ﬂﬁaﬂiﬂ.! :'..J);:..u: J’_ HOP RO,
5. (a) Derive 3rd equation of motion. 2as=vf*-vi’ 04 2as=vF-vi2_uj.m¢.,uL—-_L;,é‘Jw () .5
(b) The mass of a car is 500kg. In order to raise its 05  wduftiE20etepl/F 500 KK ()
velocity from rest to 40ms™ in 20S. How much J[-LtbA—JU’H.QJ 40ms’ :_w.u'
force will be required? el L
6. (a) Explain the law of gravitation, 04 iqu&:JUJbLdegf () .6
(b) An electric motor lifts a weight of 2N upto height of 5m 05  SeUHEUEECA wikehi2 n ST (L)
in 4S. Find the power of the motor. _J/?'F’J:LJJF..:_LSMJ
7. (@) State Archimedes principle and derive its equation. 04 é;IuleaJuwﬁabdﬂE’Jmf (D 7

cbnstant temperature that its volume reduce to one third?
334-09-A-

(b) How much gas pressure from 1x10°Pa be increased at 05 s/ lbye 1x10%Pa A{E’Jf;f.;/;‘y )
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Roll No. e St Session:2015-2017 Paper Code | 1 | 4

713
| | _ u‘/ »
PhYSlCS (Objective Type) GTU“P'I"'.-,-’-V_( : ((_5‘3/" ) 7
Marks: 12 ~ Time: 15 Minutes &15:=3 | 12y
L6z —:fﬂfi?;rf:&ebgié,sw,c,B,A_-.,l,fz,-ﬁtg!_’dlga;zgﬂggb’(}muﬂfé&@gn;:e_’.marrrl:f:.:.-}
| e SIS I3 i LD | CBe Azl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question

are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker

or pen ink on the answer sheet provided. .
_ ; ; C

1.1. The water clnnverts into ice at the temperature. . ...-;-_t'l.g.rrJ,J;Ld...iq ﬁ-ﬁu":@& 8 By
3 () O°F B) 32°F (C) -273K (D) OK |
2. Rooms are heated using gas heatersby. ..u_?e'..lgér):_/a.db"ffﬁﬁaf 2
(A) conduction only ;-..u&(.i‘f (B) convection and radiation a;ﬁldég;;lu"":f |
(C) radiation only 1Y (D) convection only ;ovigf

3. 3" equation of motion is: - | ceehlg A7 3
(A) S=Vit B) v =vitat © v-vi't=2as (D) F=ma

4. The branch of Physics which deals with study of motion of objects, Ka[«ﬁ:;;l_-—,l?lz:af}{rbzwiiﬁtﬂuJﬁ 4
its causes and eﬁectg is called: | . ' ;?Jﬂﬁ%bgﬂl&l%f

- (A) sound T (B) kinematics J@&{K (C) mechanics oo (D) thermodynamics J( l*éljf,;

5. Least count of screw gauge is: ’ _.:‘:...tﬁib’@.:’b’ Cf;‘/' 5
(A) #8551 cm (B) £0.001m ©) #dJ 0.01 mm ©) %4 1 mm

6. The speed of Cheetah is: | | ekl 6
(A) 75 km h™ (B) 70 km h™ (C) 60 km h™ (D) 80 km h”’

7. The value of sin90 is: | - —e=d sin90 7
(A) zero (0 ) (B) 1 | (C) 10 , (D) 0.5

8. One horse-power is equal to: o s 8 | el 8
(A) 1764 watts (B) U746 watts (C) J2746 joules (D) (1/% 746 Kg

9. Which force rotates the body in a circle? ?.‘L.Jufufc.ﬂ:f(aw;’ojf 9
(A) magnetic force Lﬂ.;’u@fg' | (B) Gravitational force w?ﬁdﬁj

T (C) Centripetal force SIS T3 (D) Centrifugal force -w}ﬂd 71

10. The value of earth mass is approximately L /"Tq..{_,ri.ls’c;fj 10
(A) 6.67x10°Kg (™) 6.67x10"" Kg (€) 6x10* Kg | {Dj 6 x 102 Kg

11. One mega Joule is equal to: o | | -q:.l:ml.a:dﬁ@..ﬁ 11
(A) 10°) B) 10° ' () 10% (D) 10°J

12. At sea level, the atmospheric pressure is: | _%Eﬂﬁ,{J/foﬂ,;xﬁﬁ A2
(A) S110107 Pascal  (B) JF10300 Pascal  (C) F110130 Pascal (D) 1101300 Pascal

229-09-A-X W
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RollNo._____ e S Session:2015-2017 Subject Code| 1

PhySiCS (Essay Type) | GWUP'I;&:&’f _ ) ‘f(/

Marks: 48 Time: 1:45 Hours &% 1:45:23 48 /
Section-I 2x15=30 | Jil o
2-Write short answers of any five parts from the following. 2x5=10 ,fgh_,u;rﬂfaif!ﬂéh:.df;,ufd OV
I. Define physical quantities and derived quantities. JJ/JJJ'NJFLHUJUVJ& i
ii. Define least count of vernier callipers. o c‘f:-ﬂ/guﬁuf‘% ¥ i
iii. Define plasma physics and Geo physics. | | -&J/de’ﬁ;;lﬂf’-*fl«'; i
v. Define motion and write types of motion. | d’grt-’ltfdfﬂlé;‘/’tfd" v
. v. Define acceleration and write its unit. : u“’gu!b’”u’fﬂ'é:ﬂfJu)/"rf Y
vi. Define speed and velocity. . - _ L. -‘.?iﬁ/JJHwiﬁ i
vii. Define Newton's third law of motion and give an exam.;.JFe. _ _éﬁdﬁJisigﬂj?JuﬁUWKjfgﬁﬁ Vil
viii. Define centripetal force and centrifugal force. é:d/’ JJ:’JJ’LS/-"’J:LD:U’" SA Vi
3-Write short answers of any five parts from the following. 2x5=10 ...ﬁ’dg.al_f!?/‘iifff réu.w_éf;.;u* 10 I
i. Define unstable equilibrium. - /[:-ﬂ’}’J[‘/Jsr'fﬁrU/" o
ii. In a right angled triangle length of base is 4cm and its _‘:_Scmdl.fu:‘fr-rrflcmduumbc_".....i,a,.«:l)f,rbLf( i
perpendicular is 3cm. Find length of hypotenuse, !P’GUJJJ
iii. Differentiate between Moment Arm and line of action of a force. - {5“9/’1.!' Ui ST LS Tl Tao il
iv. State law of g.ravitalion. | —uf/w,l,:::)fﬁ'b’cﬁd{/" v
- v. How the value of g varies with altitude? | he &Hdi&j’ﬁ“ﬁidﬁ&ﬂ_{g v
vi. What.is meant by global positioning system? | ?:{..beg::ﬂfu\.ﬁi.‘.igd)f Vi
vil. Define magma. | | _ ?u_'_r.'f"_'/é e il
viii. Which form of energy is most preferred and why? ?u,ﬁﬂjf.a:_alg;fjé}{(ﬁlﬁfuff U’ujﬁ!{ﬁjf Vil
4-Write short answers of any five parts from the following. =~ 2x5=10 _.éf‘q:.—I,L?:ﬁ:*;ﬁ;-f:ﬂz:tc.éfc.u'd’.abﬂ--‘-l_
i. Define atmosphere., !J/JJ/VL:‘-F }
ii. State the characteristics of Kinetic molecular model of matter. -éubuh JJ;L)yﬂLb@KZ.uL Ji
iii. Define stress and write its units. | d‘gu‘f‘fﬂumfé:.ﬂ/"fd/ il
iv. Write the characteristics of liquid used in thermometer. . u.:"{.elm:‘?pr "’LJ_.uz_.rdMJ}”r/ iv
v. Define heat capacity and write its formula. £U J:"JLJ!féf iy Wi v
vi. Define Iateﬁt heat of vaporization. o | _,c;f....ﬂ;’(f._,.sffﬁ;&j"ﬂ;m A"
vii. Define conduction. . = ' c‘ff—nffgfgf'/ﬂ il
viii. What measures do you suggest to conserve energy in homes? ‘?ﬁL{/ﬁ;fc:-—LJj!zilﬂj’?,_éi,!;nfﬁﬁﬂufu,yrf,f Vi -
Section -II r,s.a,..:b |
T Note: Answer any'twn questions from the following. 9%2=18 -y 7 /.._.'Liié:wlll: e J,f,:__ L}fd’ 5tus 29
~ . (a) Derive first equation of motion by speed time graph. 04 . f_i;.fgg;;ﬁulffﬂr,ggwhuéﬁfﬂ () .5
 (b) Two masses 5.2 kg and 4.8 kg are attached to the ends of 05 53Z4.8kg.s15.2kge— s £ nshb e LT () |
an inextensible string which passes over a frictionless d;/‘;;;;izﬁ {,'t_/’,';*d..uf (Sasso LA A
pulley. Find the acceleration in the system and the tension BIIRES c::-r'"{" JJ'U')/"'CL)*F/J’
in the string when both the masses are moving vertically. _um;_.;f_ff}’hf 7l
6. (a) Define equilibrium and give detail of its two conditions. 04 ,ufdfﬁ{,ﬁu}uﬁ;é.QJL?ﬁJrfﬂd:g I .6
(b) A 50kg man moved 25 steps up in 20 seconds. Find his 05 L:r‘*uLﬁ;ZSUIJ;JL?Gsech’,;T..fls'SDkg (._'_..')
power, if each step is 16cm high. - LI/F'-L"‘;;LLKJ rm:b’ﬂ‘iﬁcm,ﬂ;t{f /j &
7. (a) Define specific heat. How would y:ﬁu find the specific 04  ov 7S Ll &I...,d;’J_;fLJL? ) I
heat of a solid? e Qb
(b) A steel wire of cross-sectional area 2x10m?is stretched 05 {L;IJE*C’JIxQMU'SmE;CJLﬁﬁf (o)
through 2mm by a force of 4000N. Find the Young's 3 2mm A QLS Te 638 4000N
modulus of the wire, while the length of wire is 2m. | _gngmJl,JLﬁﬁésl’”uJﬁfﬁﬁb.q_tlg

230-09-A-
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Roll No.. St Session:2015-2017 | PaperCode | 1 | 4

714
Physics (objeciive Type) Group-Tl-s/ | - (53 7
Marks: 12 Time: 15 Minutes &£215:5 - 12: 4
.L/:‘Jlruwb’@ﬁ:uf‘f eon W rr S g L é Dl C B AN LLL ;_mezgg#g b’@l.eu'?f*s"umyﬂégulrrﬁ:@}
e S 3 s LD L CBe Azl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question

are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker
or pen ink on the answer sheet provided. '

1.1. The material which has large specific heat capacity is: - _+J_ 2ol ool 4.1
| j (A) copper %;K (B) lce i« | (Cs water dl; - (D) mercury LS/[}
2. Metals are good conductor of heat due to: | _ﬁ-..h_.ﬁrfi.;f}&fitiﬁﬂf’ .2
(A) free electrons ur}-gblﬁ | (B) big size of }heir molecules 7 L—i.ﬁ:bf'ﬂfgf.ﬂf
(C) small size of their molecules 7L-ts4 B’)’g-atii (D) rapid vibrations of their atoms /5-’ Y4 ;"J y“_lﬂf
3. The unit of thermal cunducti'vity isT | _ﬁ.--..tﬁ;'bﬁ.éffcfgff? 3
(A) WmK - (B) Wm'K’ ~ (€) WmK" (b) Wm?K'
4. Which one of the following units is not a derived unit? ?;-;_‘_;.‘f’.:.:ﬁ}i...ugw/;.gtur .
{gﬁ\) Paécal J‘”k (B) Kilogram rff;b’ (C) Newton (¥ (D) Watt L3
- W5, Which instrument is most suitable to measure the internal | Spdls Soberusfk ke ds” 5
diameter of a test tube? ; S LITssy
(A) meter rul.e 197 (B) verniercallipers j % % (C) measuring tape =3 j;, (D) screw gauge é/&

6. Vector quantity is: - _.;_;r,cc‘»}{; B

(A) speed é;:‘:f \ (B) distance Jeb . (C) displacement .wf'-J‘Ji (D) power sl

7. The value of accelerstion produced by a 20N force in a mass of 8Kg is: -s(}/’ b;w}w’éazu,;utpfﬁ’ BB T
(A) 2.5N (B) 3.5N | ~ (C) 5.5N " (D) 7.5N

8. Turning effect of a force is called: . . _ng;fﬁt.ﬁé.bf[_ua}of .8 |
(A) Torque e (B) momentum (l*"';‘ (C) couple J( (D) mass i

9. The first man who came up with the idea of gravity was: _I.a?u“? Q;Ul:i.fp‘i#;ﬁb’ﬂggf 9
(A) Galileo  £* (B) Newton (/2 | (C) Hooke o (D) Einstein /T

10. The value of "g" at the surface of moon is: -%&!f@é J "g"{ﬁfjg 10

N (A) 1.06ms™ (B) 0.16ms™ (C) 1.6ms™ (D) 1.62ms™

11. The energy stored in a dam water is: ﬁ.(jﬁdﬁhﬁa}fig}f&k&{ﬁ A1
(A) electric 291 - (B) potential J*% (€) Kinetic &% (D) Thermal  J#

12. 1 Pascal is equal to: S | N SRV
(A) 10*Nm™ (B) 1Nm? ~ (©) 10°Nm™ (D) 10°Nm

231-09-A-3 3%



S.8.C - (Part-1) -A-2016

Roll No. I S17 ) Session:2015-2017 Suh_:ect Code| 1| 4
PhYSiCS (Essay Type) Group-II-..T.f:f 4.7) J(/
Marks: 48 Time: 1:45 Hours £ 1:45:=% 48 : A
Section-I 2x15=30 J.‘i’!ﬂ»‘b
2-Write short answers of any five parts from the following. 2x5=10 LI.?/‘;Z-?’]ICLLJ;LU‘ JJC,;:-Z
i. Define base quantities and base units. é:.ﬂﬂfu?d:wﬂuulwdw d
i. Define scientific notation and give an example. HJ;JV_.G.:;M{...:J/’JJ’:'..WL- i

ii. Define Atomic Physics and Nuclear Physics.

iv. Define rest and motion.

g Define gravitational acceleration and write its value in SI units.

vi. Differentiate between translatory motion and linear motion.
vii. Write two advantages of friction.
viii. Define momentum and write its unit.
3-Write short answers of any five parts from the following.
i. Differentiate between torque and couple.
ii. Define neutral equilibrium.
iii. What is first condition of equilibrium?
iv. What is meant by gravitational field?
v. Write down the formula of mass of the earth.
- vi. Define natural satellites and give an example.
vii. Write the names of two parts of solar heating system.
viii. Write names of two renewable energy sources.
4-Write short answers of any five parts from the following.
i. Differentiate between freezing and melting point.
ii. What is absolute zero?
jii. State Hooke's law.
iv. Write two applications of Pascal's law in every day life.
v. What is meant by Young's modulus?
vi. Which are the ways of transfer of heat?
vii. Differentiate between land and sea breeze.

viii. What is the effect of length on thermal conductivity?
Section -I1

Note: Answer any two questmns from the following. O9x2=18

_é:.crﬂ(u’}ffmnu{;uf i
éﬂ_ni/"JJ:‘J:f._ﬂU iV
c‘ngJJ'Ju*!SIJ:f!ﬂ/'JJUJJL’qJJJ’j v
LGSR S P i
d{/ﬁb’usﬁ‘,}";’ Vi
cfg_dwwra.{meﬁr i
2x5=10 ﬁuwﬁ&fﬂém.éf:.;fJ;z,ﬂ-3
-qubU/u'J:f:rJ ¢
,egif_g/Jﬁ,,U:f s i
fab@;&tff’/;! i
*ﬂd:/l,(::,ﬁ"dﬁ'd:'/( Jiv
cf%f;bﬁ,}'t;’i;ﬂ; R
ii_":d’:"'n-ﬁ)ﬂdf:.ﬂ/J# d.ud Vi
L el ke i
&?»Léim,wwrdu,wﬁ&u viii
2x5=10 gguwﬁféfrfra;df;btwm-ri
:é{;;u‘_mw.ﬁvﬂf/; i

e

Ussiksdr i i

aé[;uu;ﬁ's’_; ii
_JJL}JL’JJJLJ&ILUJ’FL&LL,dLflria/.a‘.u AV
"ﬁ.}/lr'/::ﬁui:bﬁ V

e W E L7 JE i

IO EMSE i
ety KL S IA i

L

rj.:,.‘a?

_Jﬂfulfiﬁuﬂlﬂ: -:'_-d.!(-‘:.-u:J.!DJJ 2

5. (a) Define translatory motion and explain its different types. 04 !JLHJFL—’IJL;JJDﬂéKJfJde/HI () .5
L L Sl 2oNst L 5 (WD)
?f:fiﬁ}:j:ﬁ'f!w;’%ﬂi\l
ol = (L 6
(b) A 500g stone is thrown up with a velocity of 15msec™’. 05 Wb pie 158 15msec A LIL500g (o)
SATER R BT VY o Vi
_JJII’JJ’"UJI
s 7SS B F e () T
"r;.divurpl’"
(b) A cube of glass of 5cm side and mass 306g, has a 05 ;Mﬁubsl;;?,{)ﬁguw’u/é:.:‘a‘;fcﬁ ‘L-5em (o)
#2.55gcm 3(5’":Ja::fi:§. d[gd_[:(t,br)ixr
gk L

77 (b) How much time is required to change 22Ns momentum 05

by a force of 20N?

6. (a) Write a detailed note on couple. (0}

Find " potential energy at its maximum height" and

kinetic energy when it hits the ground.

7. (a) Define specific heat. How would you find the specific 04

heat of solids?

cavity inside it. If the density of glass is 2.55gcm™,

find the volume of the cavity.
232-09-A-



5.5.C - (Part-1)-A- 2016

RollNo._____ o Sasul PaperCode| 5 |4 | 7 | 1
Sessions; 2012-2014, 2013-2015 & 2014-2016 .

Ph}’SiCS (Objective Type) ' Gruup-I—..__,r.uF _ (Lﬁ/" )Jc/

Marks: 12 Time: 15 Minutes &15:=3 12:4

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each guestion
are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each guestion with Marker
or pen ink on the answer sheet provided.
4
1.1. One micrometer is equal to: | -.:::.-.{L{/"f:/.ﬁ-g 1.1
(A) 10°m (B) 10°m | (C) 10°m (D) 10°m
2. Scalar quantity is: _.;.JIJ.'E*/.'TC 2
(A) Velocity Vs - (B) Momentum (”"’;* (C) Speed ir (D) Acceleration ﬁ)"gf
3. Rate of change of displacement is: | -:.;_.E,}JLJ_L_EJ&“—J{? 3
_ (A) Speed ir (B) Torque St (C) Velocity (513 (D) Work s
4. Which material lowers friction when pushed -é,.rw_lméiu;}’ Ui Seu st 2 4
between metal plates? | ?ﬁ_@@ﬁ(ﬁuwéum
(A) Water dg (B) Air Ix
-~ (g)oil JT (D) Fine marble powder 35467/
5. Newton's first law of motion is valid only in the absence of: S b WISy Ib&L L iur (ﬁ?r/{JJ 5
(A) Force u;:" (B) Momentum (L‘:*"r‘ (C) Friction u’;‘ (D) Net force u::}..*.;f
6. A force of 10N is making an angle of 30° with horizontal,ts Jh{_JL::f:U5’3{]“3'[,{.7-:!-}{@:;’..@&}:&1D 6
horizontal component will be: _ib"y:._*.u:-.%.;r(}'“; [,
(A) 4N (B) 5N (C) 7N (D) 8.7N
7. Two equal but un-like parallel forces having g?d;wgﬁ;!ﬁﬂy;}bﬂg:_fuum T
different line of action produce: ~Uf Jﬁwu:f-:uft JU...Q
(A) Torque ¢ (B) Couple (C) Equilbrium (254! (D) Momentum (¥
8. The value of 'g' at moon is: : -_ﬁ:.afJ'g'{ﬁk B
~ (A) 1.5ms™ (B) 1.7ms2 (C) 1.6ms™ (D) 1.8ms™
9. Work will be maximum when the angle between force and ,gﬁf:fjwynﬁ .:,/'-‘-Jf jurw}.._.eb’m:_l,.:;ug;.ﬁ; .9.
displacement will be:
(A) 90° (B) 0° (C) 60° (D) 180°
— 10. The unit of pressure is: A, 10
(A) Watt 1 (B) Volt s (C) Joule g (D) Pascal fl
11. The temperature at which water freezes: -qﬁ'f"z...i,f{,é'-/;u’-&ig A1
(A) O°F (B) 212°F (C) OK (D) 0°C '
12. In gas, heat is mainly transferred by: _;T_.J:»rd}:' ::.«;lfirfu:ﬂ 12
(A) Conduction uy g (B) Convection uig/
(C) Radiation It (D) Molecular collision  5LA5usEL

e S SN I 3re JiUsED | CB A szl
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RUIlNO.. L/.é.!.f’ﬂu:#‘l'

e T——

PhYSiCS (Essay Type)

Marks: 63

Sessions; 2012-2014, 2013-2015 & 2014-2016
GI‘OUP‘I"'L;‘.!f

Section-I 2x16=32

2-Write short answers of any five parts from the following.

i
i,

iii.

Vi,
Vil.

Viil.

Define electromagnetism and sound.
What is meant by scientific notation? Give an example.

Define scalars and vectors.

. Differentiate between rest and motion.

Define distance and displacement.
Differentiate between action and reaction.
Define momentum and write SI unit.

State Newion's second law of motion.

3-Write short answers of any six parts from the following.

vi.

Vii.

viii.

X,

Define head to tail rule.
Define perpendicular components.

Define principle of moments.

. How can you say that gravitational force is a field force?

. How the value of 'g' varies with allitude? Explain.

Why fossils fuels are called non-renewable form of energy?
Name two devices that convert electrical energy

into mechanical energy.

Time: 2:45 Hours £ 2:45:=33

2x5=10

2x6=12

Subject Code| 5| 0

0 U

63:

Jil o

é‘:_ﬂfd:-l; Lulr/‘p ﬂ
_&SJe *‘r_:f,fl.f‘:.‘_;’?..ﬂ:i"b
AL i

- éﬁj}u’: J‘ ¥ulld,

Ay A
RS
-£ﬂﬁ551;;r¢_§(_§ﬁ&fyr

S I KT K

.._gﬂﬁeL'ﬁﬁéf'f'éL&J[&JJJ&f)'z

A

i
i
AV
A
Vi
Vi

Vil

- ggakfﬁ,ﬁéflylﬁc_-gﬂi—deﬁﬂ-:i

_J/...ﬂj’JL)uJ:M
d.{_d/"Ulf rrd:/
SIS SImE S

e J;}Muﬂu;}ﬁdgffpg é,.ff,)u’;‘?

_gfy u;?%aﬁdga)ﬁvédxkaé S

What is meant by renewable sources of energy? Give an example.

Which form of energy is most preferred and why?

4-Write short answers of any five parts from the following.

Iii.
V.

V.

Vi.

Vil.

viii.

. Define pressure and give its unit.

St UL Fa BTG MAE 5

&/ ﬂ:@ﬂﬁ/"@fﬁﬁff chC/'-fIgf.? pell

gL
_L,_J:JJlf'f?r:_:Lfl‘fr’c.ébjg,gchﬁ'Lﬁ}f

?LJJ.’.':UI&- JLPU'J 5}nJLJJIrL3|d/:J:((‘:Ej);(L;L§'ﬂ
c‘_"JuLLP/“;..f:fiﬂ(;L:;.deufJ:bﬂ-ll

2x5=10

qu..-".!’lbjfljiléiﬂfl,(/f

. Which law is used in braking system of car and bus? Define it. ch...nJ/JJu:’G'JIan‘dWIu:‘L qu:u'f’/._f.r.{:Lf;:f;B’

Differentiate between temperature and heat.

What is heat capacity? Write its SI unit.

What is the thermometer? Why mercury is preferred as a
thermometric material? Give one preference.

What will be the temperature on kelvin scale of temperature
when it is 20°C on Celsius Scale?

What is the principle of floatation?

Describe the impact of green house effect in global warming.
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Section -1II

Note: Answer any three questions from the following.

7x3=21

5 (a) Derive the first equaton of motion with the help of graph. 04

(b) There is an interval of 20048 . Change it into seconds 03

and write answer into scientific notation.,

6. (a) Describe four methods to reduce the friction. 04

(b) Find the magnitude of a force if its x-component is 12N 03
and Y-component is SN.

04

7. (a) Explain the variation of value of gravitational

acceleration 'g' with altitude.

(b) A block weighing 20N is lifted 6m vertically upwards. 03

Calculate the potential energy in it.

8. (a) Write Kinetic Molecular model of matter in detail. 04

(b) Find the volume of brass cube at 100°C whose side is 03

10cm at 0°C Co-efficient of linear thermal expansion of

brass =1.9x10°K ™.

9. (a) Define thermal conductivity and derive its equation. 04

(b) Normal human body temperature is 98.6°F.Convertit 03

into Celsius Scale and Kelvin Scale.

Section -III(Practical )

Note: Answer any two parts from the following.

5x2=10

10.A- From an inclined angle iron, find 2S and t? for a rolling ball

(‘::,.b

Sl il e et stn 2 F

q é-:'éf:.ff: L-’J."-{J://’E:-M L{Jff () 5

.__,r:?;;lq:_i{}’_fd:ﬁfgiﬁnf.jﬁguﬁﬂﬂﬂ ()

e A,
i LSS () 6

212N ...‘J.’.’J:..f- }{E’u)*é[(‘:l”'ﬂﬁ"d'w;’tﬂ (o)

-<-5N d’-_-_"!,,f -y 3
L3 g SR LS () T
- A
SL16me b Syt S 3 1520N L ()
A nds)
o AR el (D) .8

,;0°CJ91J&4§-)4’@1:@{£J’—‘=;1 00°C ()
2otV s $AL S e 45710

< 1.9x10°K"
-gjﬁiﬁ,;,ugglézf_y}Ja THIAC) .9
L;?'Li-_.f_ﬂ;mga.s“’F AAME3U (L) d
-é&mt}:‘ U
(o

-U:);’;@LI_RL#I:Z'}J Léfc:_.ufd_.i(w: Wy
g-?:bltgiﬂzsg_idgéﬂ{t}f{ g (1 (L)-10

and then find the acceleration of the ball. _éi[f'.-i"’cﬁ)"gls'dy/iﬂ!
/1}%[:3' Loas =3 2S
Sr.No |S t cm Sec?
Cm Sec
1 150 4 Sec
2 200 6 Sec

B. A meter rod is balanced on a wedge. Prove the principle of moments. _,:__i;f,efu"ﬁw_ﬁdzf;#?_fgu;r?{éaﬁu}f_g _.(..:..-)

185cm

50c1m

W,=0.8 N

C- Write procedure to find the density of solid body

using Archimedes principle.
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question

o S4p i Paper Code
Sessions: 2012-2014 ,2013-2015 & 2014-2016
Group-II-....r:f

are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

41-1. Unit of heat capacity is: ..r;_..*..:gb’tj’jlf g7 1.1
(A) JK (B) JK (C) JK? (D) JK?
2. The major source of heat energy is: e MY o 2
(A) Moon 4l (B) Earth (C) Nuclear fuels fj.’:/’:”;i (D) Sun (Qur

3. Base unitis:
(A) Pascal Jé’_{: (B) Kilogram (,,/r‘;f
4. Change in position in proper direction is called:
(A) Speed A (B) Velocity (s

(C) Newton (/¥

e HlE 3

(D) Watt s

e QW st et
(C) Displacement Lo S (D) Distance J~i

4

5. The unit of velocity is: _‘l:..._*ﬁgbﬁ_f’ﬂ: 5
(A) mS (B) mS? (C) mS (D) mS™2

6. Co-efficient of friction between tyre and dry road is: -.:;.._.:«z_": Jf;’__ﬂﬁ—ﬁf lfuy:.:&b;ﬁ;ﬂ.?ﬁ 6
(A) 0.6 (B) 1.0 (€) 0.05 (D) 0.2

7. The formula of centripetal acceleration is: -;urjﬁKﬁ)&&dfk g
(A) go= V" (B) go= () ac=mv' 0 4oV

p ¥ r

8. The number of perpendicular components of a vector are: _.:;:_,:Luf"tf uj'};rd:}f:ﬁ/’-ﬁ .8
(A) 2 (B) 6 (C) 3 (D) 4

9. The first condition of equillibrium is: e bAMESE A 9
(&) ). T=0 ® ) F =0 € 2. F.=0 ©) 2, F=0

10. The orbital speed of the lowest orbit satellite is: e St SL SRSl il e o 10
(A) Zero j* (B) 8mS™ (C) 800mS™ (D) 8000mS™

11. The unit of work is NS
(A) J (B) N (C) Nm? (D) Ns

12. Liquid pressure at depth '/ is equal to: : ~af_x'ﬁ:/i,_;ﬁ'5t,;3f,ﬂﬁ'h' 12
(A) Pgh? (B) pgh® (C) pgh (D) P8
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Section-I

2-Write short answers of any five parts from the following.

&

v
i

V.

Vi

vil.

viii.,

Define Physics.

Differentiate between physical science and biological science.

What is meant by circular motion?
Define velocity and give its formula.
Write the names of two scalar quantities.

Define inertia.

A 20N force is acting on a body of mass 8 Kilogram.Find the

acceleration produced in this body.

Define momentum and write its formula.

3-Write short answers of any Six parts from the following.

I,

ii.
Iif.
v,
V.
vi.
Vil.
viil.
IX.

4-Write short answers of any five parts from the following.

Define centre of mass.

Differentiate between Axis of rotation and moment arm.

Why a body cannot be in equilibrium due to single force acting on it? “mﬁ;/J{_rn’ffxw)}U/ﬁJu/u'r’}d}/f("df

Why law of gravilation is important for us?

Write the value of mass of earth with unit.

Define potential energy and write its mathemetical form.
What is meant by the efficiency of a system?

Define energy and give two types of mechanical energy.

What is meant by geothermal energy?

l. Write two properties of Kinetic molecular model of matter.

i,
ii.
v,

V.,

vi.

vil.

wiil,

Define Archimedes principle.

Define Co-efficient of linear thermal expansion.
Define latent heat of vaporization.

Define thermal expansion.

Write the difference between apparent volume
expansion and real volume expansion.

Define the rate of flow of heal and write its equation.

Write the use of convection of currents.

Time: 2:45 Hours &£ 2:45:5s
2x16=32
2x5=10

SubjectCode| 5| 0 | 4
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Section -II

Note: Answer any three questions from the following.
]
5. (@) Derive S:VJHEGIz with the help of speed-time graph.

(b) Express the following quantities using prefixes.

(i) 5000g (i) 2000000W

6. (a) Derive equation for law of conservation of momentum.
(b) A force of 100N is applied perpendicularly on a spanner
at a distance of 10cm from a nut. Find the torque
produced by the force.
7. (a) What are artificial satellites? Explain the geo-stationary orbit.
(b) A body of mass 50kg is raised 1o a height of 3m.
Find its potential energy.
8. (a) What is meant by Young's Modulus.Find its mathematical
formula and write SI unit.
(h) The head of a pin is a square of side 10m.m. Find the
pressure on it due to force of 20N.
9. (a) State and explain green house effect.
(b) A brass rod is 1m long at 0°C. Find its length at 30°C

(Co-efficient of linear expansion of brass=1.9x10"K").

Section -III(Practical )

Note: Answer any two parts from the following. 5x2=10
10-A.(i). A screw gauge has 50 division on its circular scale.The
pitch of the screw gauge is 0.5mm. Find its least count.

(ii). If the radius of cylinder is 0.9cm.Find its area.

Tx3=21

03

(92>
S fe izl e (e b S5t 129

04 _éﬁ?l S=Vif+%{ﬂ2 ;:.JJJ__EF/?L,E{ () 5

03 uéﬁfqlﬁa-:xufqugﬁ.i@u ()
(iif) 52x10"°kg

04 ,é!;l;b[ﬁﬁﬁil‘&:w‘ﬁ'(uﬂi) .6

03 & i10cme 2L 100 (L)

¥k L}:JJ}iq-L:‘ftjﬁi:f{ -V
_g’élc}*fil:uu
04 _éwu;JqJTdfﬁf?ﬁgiﬁWJW () .7
03 WHFSekd 3ma il e 50 (L)
_g[g,i#g’. ,}Iﬁ*%[ﬁ,‘lf
04 Uy QLK1 e U () 8
- fySL
03 Ul 10mmiEL LU e Ul 1 St (L)
,&th}ﬂ{U]jLJF!ﬂC—JJ}.’JZDN (=D,
04 #.f,;i;:u;Jw*q;jiZ e st S () 03
08 Ut By £0°C 2L $UEL (L)
L dand bl S Zebrys0°cdy
—e1.9x10°K e d St
W )5 >
_L)"');f'.ayﬁ.‘ﬂplzfﬂc-&f&(,)-‘.'J.':jb;: Wy
J@‘E/@{,ﬁ;;ﬁﬂ J;J.“/Wé/;g (%2110
= &F}”&iE’ME’JL{_O.ﬁmm@
02 #1630, 9omA L sk i1 (i)

B. Prove that the time period of simple pendulum is 05 | Juﬂﬁﬁji?:a:bfégqt* _.(..'..«)
independent of amplitude. —t'ﬂu'fi;’if he
S.No.| Amplitude Time for Average time | Time Period
52 (5 =562 2120 Febol
L t t I="t 20 5
1. 7cm 13Sec 13Sec
3 9cm 14Sec 14Sec
Average time period =? E{( Ehrsl=7
C.(i). Why metals are good conductor? 03 "-‘uj‘_aﬂu[}’&fﬁ'ﬁ (i)-(&)
(ii). Write two advantages of cooling effect of evaporation. 02 -ngr’f;’:.}ﬁjlzii.ﬁlﬁbfﬁ;i.:&i&: (ii)
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Session; 2014-2016 : .
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question
are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

1.1. Two equal but unlike parallel forces having different line of - Jﬁﬁ;fﬁﬂuTJIJE{(;)’-;/;:"&,&_E’MBFJJL»:: A1

action produce.

(A) a torque St (B) a couple 4 (C) Equilibrium (£J4E1 (D) Neutral equilibrium PTANYE

2. Earth's gravitational force of attraction vanishes. H..f._f}tgﬁ.._.ﬂ LEL,I:.«:‘*J‘%;LE;{/JC)’J} 2
(A) Infinity distance J<ls2U (B) 6400Km (C) 42300Km (D) 1000Km

3. Rate of doing work is called: _pggfaﬁprL .3
(A) Energy (.1 (B) Torque St (C) Power sk (D) Momentum (j*"':v‘

4. In which of the following state molecules do not leave their position? ?E_J;%?uf”:ﬁjif@fﬂggLu:;JbL@(ﬂ;L 4
(A) Plasma Ltk (B) Gas ¥ (C) Liquid i (D) Solid s

5. Which of the following affects evaporation? ce b e 5

L (A) temperature }/;‘ (B) surface area of the liquid L{rs’éfJéL
(C) wind Ix (D) all of them (L%

ﬁG. In solids heat is transfered by: -:;..Jj)b’:.u!ngL'&?fpﬂrLeUyé .6
(A) Radiation ¢~i6t,  (B) Conduction "%  (C) Convection % (D) Absorption i

7. Anintervai of 20045 is equivalent to: e Sl S5 1200 7
(A) 2x10°S (B) 0.02S (C) 2x107'S (D) 2x10°s

8. A ballis thrown vertically upward. lts velocity at the highest point is: iJﬁ%*JJI{(Li’»q}A_q_" &’gd}«fgﬂf:ﬁﬁ?ﬁg 8
(A) Zero 3 (B) -10mS” (C) 10mS™ (D) 9.8mS™

9. The value of 'g' on surface of earth is: ua';_n.vft;'g'{c,r.fji/ .9
(A) 10cm® (B) 10m (C) 10mS™ (D) 10mS™

10. Inerlia depends upon: _.-;_tﬁxbaﬁﬁgjf 10
(A) force ,;LL*;’ (B) net force ,,_;J;}’.:.f (C) mass Ul (D) velocity {d“l],

11. The unit of momentum is: RPINYY (R
(A) Nm (B) Kgm? (C) N.S (D) NS~

) 12. The number of perpendicular components of force is: _.?&;fJuﬁJﬁi;rdJ:fiﬁggdf i

(A) 4 (B) 3 (C) 2 (D) 1

315-09-A- W W WX
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2x16=32

2-Write short answers of any five parts from the following.

i. What is meant by screw gauge's pitch?
ii. Define prefixes.

iiil. What is meant by random motion?

iv. Define relative motion,

v. Define motion.

vi. State Newton's first law of motion.

vii. State law of conservation of momentum.

viii. Define centripetal acceleration.

3-Write short answers of any six parts from the following.

I. What are unlike parallel forces?

i. Define trignometric ratioes sin @ and cos @,
iit. Define centre of gravity and centre of mass.
Iv. What is meant by force of gravitation?

v. Differentiale between 'g' and 'G'.

vi. What is unit of work? Define it.
vil. Define energy and write its unit.
viii. Define efficiency.

ix. Write the names of parts of a heating system.

* 4-Write short answers of any five parts from the following.

. Define the term pressure and write its unit.

it. Why is water not suitable to be used in a barometer.

lil. Write two applications of thermal expansion.

iv. What are lower and upper fixed points in thermomeler?

v, Define heat ca
vi. What is celsius scale?
vii. Define radiation.

viii. Define convection current.

- (Part-1) -4-2018

63: 7/
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Section -11

nswer any three questions from the following.

7x3=21 _J_J} fl-..-gwi.:.«wfuf

r»,_.‘b
.-:...{}:r;:..ewgti@ﬂ 2y

Note: A
5. (a) Explainthe types of motion. 04 - n:,-?w;JrL:’FJL;I_? (W) .5
I 03 aézfﬂdpi.‘b;?’:(d}@ﬂ ()

in standard form.

(b) Rewrite the following
(i)1168x1 5o (if) 0.02x10°

|
6. (@) Derive S =Vl +-£m" with the help of speed-time graph.

(b) Find the perpendicular components of a force 50N
n angle of 30°(degree) with x-axis.
| acceleration change

making 2
7. (a) How does the value of gravitationa

altitude? Explain.

(b) A block weighing 20N is lifted 6m vertically upward.

Calculate potential energy stored in it.

8. (a) Explain the method to measure the atmospheric pressure.

(b) How much would be the volume of ice formed by freezing

1 litre of water?

9. (a) Differentiate between land and sea breezes.

(b) A brass rod is 1m long at 0°C. Find its length at 30°C

(co-efficient of linear expansion of brass= 1.9x10°K").

Section -I1I(Practical )

parts from the following. 5x2=10

Note: Answer any two

10.A-(i). Which are types of zero error and zero correction in 03
vernier calliper?

(ii). What is meant by least count of a screw gauge? 02

05

B. The data is given in the table measured during vibration

pendulum. Find average value of—?:_; by using it.

04

B iy 725x10 kg

I . ; ;
_J S S = vl +;m“ ;:.;,»J_:arfrrg_é_?(hnll) 6

03 _g,[;l;,.:,ms’;d;,sso"ﬁv.é y—-fl-xw}JJ;ssn ()

,é/r:b’ﬁ!{jufﬁui
with 04 Cf’.ebx”f o) Jwﬁf-)’g!ﬂdsfﬁuﬁw (N .7
S Sl
03 _,;_,g"yéiamh_;L_oJ_;,ﬁ”fJ&J;.-zow ()
qéﬂ”ﬁfldﬁ%dhé_m/fijw
04 _égy;K@)KL/Jngﬂ{,_@*w () .8
03 ?fﬂw}gs,g_j,f;duei;-{;_m&g_ PRA
04 SIS (D 9
03 JJI_.:;.L,‘{}&Q{@@}UBCE@WJJ'{;@ (o)

L Sandsl J‘"ﬁ'v,gé);jzf?}y{ao"cdu
(e 1.9x10°K = d el

) " (¥
—Q)}f@l_«'ﬁé—f'zlﬂ :;d)::- St 1Ly
%‘ugrﬁlbfufuﬂ S issgls g 3 /J 2 (i) ()10

oY 2l By (i)
,.;,ﬂ:ﬁ;}f‘-’ujfyc,ﬁﬁuﬁﬂﬂgumg _,(l_,,)

5 & ] ~ .
" g_*f(:"”';:.uf .L:f.ul[_,{ ':_JF_ LJ’FL/JL?-"‘U{I'

C- Verify the principle of moments by using

given in figure below:

A=10cm 0O=50cm

of simple
SNo &~ | Length of simple Pendulum (4) &hzest | Time Period (T) £(t
1 100cm 25
2 156cm 2.45
R STy D O e
the data 05 = -SCA% (,J:.:L:x.a.u_,?_ﬁ’gfu:‘f.-._..;_}u}v ..(E/)

|

J

AN

W ,=0.5N
i). W x0A=7
W, x0B="7

o

i1
}-

o

B=70cm
Y
W.,=1N
W, x0A=7 (i)
W, x0B="? .(ii)
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question

with Marker or pen ink on the answer sheet provided.

1.1. Water freezes at: H.;blguﬁ_.i,f:,;,é-/;}u’.:d_l; 1.1
(A) O°F (B) 32°F (C) -273K (D) OK
2. In gases heat is mainly transferred by: -.%.frlf.:-slfQE?f}u_l,.}L,ff/Vf 2
(A) Molecular collision  5.56/:€, (B) Conduction %
(C) Convection ard (D) Radiation FISL
3. A measuring cylinder is used to measure. s tig"bfrﬁ*‘;:.,ri#f_k_; 3
(A) Level of liquid J£§CL (B) Volume s (C) Area L (D) Mass '
4. Cheetah can run at a maximum speed of: T.g_[:ﬁ}uﬁbf.é;&-{:p;;ug}% 4
(A) 60Kmh™ (B) 70Kmh’ (C) 80Kmh™ (D) 90Kmh™’
5. What is the value of 'g' on the surface of earth? %éf;miﬁf&g B
. (A) 10mS? (B) 10mS™! (C) 10m (D) 10cm?
6. Centripetal force always acts_____ to the motion of body. _::_.J/Ur .__L:.IJ@E*’J():‘&DO;’&GP: 6
) (A) Opposite ¢ (B) Parallel Sz (C) Perpendicular 15 (D) at an angle of 45“{.{.,:U£45°
7. Co-efficient of friction between tyre and dry road is: e Qe d STt Al e T
) (A) 0.6 (B) 1.0 (C) 0.05 (D) 0.2
8. Two equal-but unlike parallel forces having different ..q_?a.flg,.ﬁﬁuﬁgldfu?'u{&yz;ﬂﬁhfﬂmiggd:w: .8
h line of action produce:
(A) Torque ot (B) Couple LJqf (C) Equilibrium @,_Ju';f I (D) Neutral equilibrium @,,Jd,f (s
9. The number of perpendicular components of a force are: _%&ﬁﬁlﬁ‘fﬂ;;,rd;fiﬁﬁuj .9
(A) 5 (B) 2 (C) 3 (D) 4
10. The orbital speed of a low orbit satellite is: - Jﬁi_{&i.fﬁ/ﬁ#'wf_qﬁg 10
(A) Zero (B) 8mS™ (C) 800mS™ (D) 8000mS™
11, The work done will be zero when the angle between the force and the distance is: _.;..bﬁf:uv"i.mzii-vﬁuh_ﬁ?__.q G po Sl 11
(A) 45° (B) 60° (C) 90° (D) 180°
12. According to Hooke's law: O Ll 12

(A) Stress / Strain=Constant Lﬁﬁf@;=¢&uf (B) Stress x Strain=Constant J,ﬁ'xu,fjﬂabﬁ-}f

(C) Strain / Stress=Constant u{jﬂ!df=ﬂf (D) Stress= Strain J}fu{/‘f
317-09-A- W W
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RolliNo.______ P A
Session: 2014-2016 *
PhySiCS (Essay Type) Group-II—*,_f:); (&N ‘./(7
Marks: 63 Time: 2:45 Hours 2% 2:45:3 63:
Section-1I 2x16=32 JSLJD

" 2-Write short answers of any five parts from the following. 2x5=10 d’g L!!/ﬁc‘:piilf/tc,dfc;u‘gﬁbu-:!

. Whal are the base quantities? Give one example. .A_”Hdv._f“wdfb@;lﬂdjv A

ii. What is the least count of vernier callipers? e tﬁgﬁibwk’}gﬁu i

iii. Differentiate between distance and diplacement.

iv. Define uniform acceleration and give one example.

v. Can body moving with a constant velocity have acceleration?
vi. What is difference between mass and weight?

vii. State law of conservation of momentum.

viii. Why is rolling friction less than sliding friction?
3-Write short answers of any Six parts from the following.

. Differentiate between torque and couple.

ii. Define the first condition of equilibrium.
lii. Write an example of moving body which is in equilibrium.
iv. How does the value of 'g' change with altitude?

v. What is meant by field force?
vi. What is meant by power?

vii. How can you find the efficiency of a syetem?
viii. Define kinetic energy and write its formula.

ix. A body of mass 50kg is raised to a height of 3m. What is its

. potential energy?
4-Write short answers of any five parts from the following.

. Why does the atmospheric pressure vary with height?

ii. What is upthrust?

iii. What is meant by convection current?

iv. Why are metals good conductors of heal?

v. Define the terms heat and temperature.

vi. Why is mercury prefered as a thermometric substance?
vii. Define latent heat of vaporization.
viii. Temperature of water in a beaker is 50°C. What is its value in

Fahranheit scale?

BTS2 ot i
LA SR iy iy
?.;_Eﬁﬁwﬁf}‘-flui(’?LI,L/_nfﬁLd’u;.iﬁ[gf kY
e J UYL Vi
SIS i
‘e dnfude FPL i B i
2x6=12 yﬁ’gayiﬁﬁ?cf.dfhga(jfcpddifmﬁ
-.{_%i':;;w)u:;,h’l-l_ﬁu i
_.f_'_i(hg/"—u@}d?&f/?dfl i
2812 ST i
‘e S e ASAL I v
?;‘:,_Liﬁgbff;’,ﬂ:; RY
e sl sl Vi
S TSRS i
_,:j:‘q}:aﬁbfuwé_gﬁJﬁjr\,@JK Viil
ST FSA 3ma L 1 ¥ 50 i
AENIF N i1
2x5=10 .,cf_ﬂg.:,ygﬁ?z:frzréga,éf‘;ufdnszw-zl
St sl AL Suk 2 St |
Sl urdSJit i
sl U oS i
Ut dn UL P EI v
_L,V/._;J;JJ bﬂb‘IJ//J'f w7 N
S QT o bl S H e ALy i
_,g‘lig/?&urf&{fﬁ;?u,;as Vii
Bt b 50°C £ 7K ot Bl i

Cur




Section -I1

Note: Answer any three questions from the following. 7x3=21
5. (a) Prove by the graph: 2as = Ll “"f' 04
i (b) Write in standard form: 03

5 (i) 6400Km (i) 380000Km

6. (a) Write four methods to minimize friction. 04
(b) The steering wheel of a car has a radius 16cm. Find the 03
torque produced by a couple of SON.
7. (a) How can the mass of Earth be determined? Explain. 04
(b) A block weighing 20N is lifted 6m vertically upwards. 03
Calculate potential energy stored in it.
8. (a) Explain the working of hydraulic press. 04
(b) An iron sphere of mass 5kg, the density of iron is 03
8200kgm . Find the volume of iron sphere.
9. (a) Define thermal conductivity. On which factors does thermal 04

conductivity depend upon?

(b) How much heat is required to change 100g of water at 03
100°C into stream? Letent heat of vaporization of water is
2.26x10°Jkg.

Section -III(Practical )

Note: Answer any two parts from the following.

10-A.

5x2=10
Find the volume of a cylinder with the help of given data 05
of vernier callipers.

(i).Mean length of cylinder=3.5¢cm

(ii). Mean diameter of cylinder=0.9cm

(::,E}
_qj;faglﬁiaﬂlfbfﬁpé!(&ufdjbﬂ (L
?,cf.a':vf.! "\’EE_LEIJ_,:L:.LJAJJ[I () 5
LU e (L)
(iii) 300000Km
oy p L S 6
JZ 50N 16cm R KIS AL KL (L)
LS e e
oot (Col L STV () T
e Slem bl A 320N (L)
AN AR I
g e (S L Ry Mo () .8
e (IF BUVELG ikl L e 4 ()
_ 8200kgm ™
SN AR £ PSP () .9
":‘.:-_1::?._;
F S g ot 100°C/34100g ()
»-*JJVL;E;J:/%&”J Lﬁuv/" ?Jmﬁi’ﬂ-w’?
~c-2.26x10°Jk"'g
(pr
Y2 fe L Y S 5T 12
A s 5Lt S e a0 n (D10
A
3.5cm=0LbsI 4z (1)
0.9cm= Bhs187 % (i)

B. A meter rod is balanced on a wedge. Prove the principle of moments. _él;t?:’&”‘“f.._i?u’r?_ﬁ:_gfgujlj'?{'@‘;ﬁuﬁ_ﬂ _,(,_._,)

15cm 50cm

90cm

W.=0.8 N

C. (i).Differentiate between Hypsometer and polystyrene cup.
(ii).In hilly areas water of same quantity boils early as compared

to plain areas. Why?

318-09-A-

W,=0.7N
_ggj;JJGFW{Jjw,{_(i} (&)
02 LEG St Uk et ST (i)
sl (T2 18k 3L¥

03



w

Roll No.

Physics (Objective Type) -

| Marks 12

S8.5.C - (Part-1)-A- 2079

(For all sessions)

Gruup-l—.‘.r.—.s/ |

Time: 15 Minutes &4 15:2% ) .
L/-Ur-»-wzd mwr < eon Wz L E9DsI,C,B m.-unﬁuidw.ﬁ% Kdi;u" /vfdmu;.iumyrv <y

PaperCode} 5§ |4 {7 | 1
s
(u"/f) 7 s
12/ A-\

_JJ/{LLﬁL-JJLIL[L!UWLJUJIULD (L C Bt Az

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question

are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

1.1.

10.

1.

The number of base units in Sl is:

(A) 3 (B) 6 (C) 7
The unit of velocity is:
(A) m-S (B) m-S (C) m-S*?
The formula of Newton's second law of motion is:
(A) F=ma ® =1 © =2
a m
The formula of centripetal acceleration is:
A) 4 =¥ ® ,_ © , .Y
- 2 T
The unit of torgue is:
(A) N.m () N.m™ (C) N'm"
The formula of mass of earth is: ' |
@ 3 K8 ® y K& © m, =28
e G G
One joule is equal to:
(A) 1J=1N.1m (B) 1J=1N.1S (C) 1J=1N.1h
Mass-energy equation is: |
(A) E=mc? (B) E=m®c? (C) E=mc
The unit of density is: |
(A) Kg.m (B) K_g.r?c'r1 (C) Kgm™
The Formula of specfic heat is:
(A) =22 (B) o= mAQ () o=2Q
mAl Al - m
The boiling point of lead is:
(A) 1750°C (B) 1751°C (C) 1752°C
. The major source of heat Energy is:
(A) Moon 4l (B) Sun Cu (C) Earth )

225.09-A-%¢

eSS USL 11

(D) 9

e K ST 2

(D) m™-8*

RO LN O

(D) F=m?a®

~c- Uy G.E/cftﬁ./""gl d”.?d P

> R
(& v!

_..:"_d.r'gflﬁi.-’jl‘: :

(D) NZm?
e U E L

(D) 1J=1N.1m?

el UL

C

(D) Kg.m™
_LUfJEKJJJ&J'j

(D) o= A!r??

AQ

e 2y ALK

(D) 1753°C
. e M YBS e
(D) Cloud (bl °

.10

A1

A2



GroupnI—.{s/

Ph}’SiCS (Essay Type)

Marks: 48 Time: 1:45 Hours & 1:45:53s
Section-I 2x15=30

2-Write short answers of any five parts from the following.
i. Define base quantities and derived quantities.

ii. Write two rules to find the significant digits in a measurement.

iii. Define scientific notation and give an example.
iv. Differentitate between distance and displacement,
v. Differentiate between speed and velocity.

vi. Define momentum and write its S.1 unit.

vii. Define friction and limiting friction.
viii. Define Atwood machine and write its one use.
3-Write short answers of any five parts from the following.
. State principle of moments.
ii. What is meant by centre of gravity?
ili. What are artificial satellites?
iv. How the value of g varies with altitude? Explain.
v. What is meant by couple? Give an example.
vi. Define energy and write two types of mechanical energy.
vii. What is the value of speed of light?
viii. Define power and write its S.| unit.
4-Write short answers of any five parts from the fniluwnng

226-09-A-

i S$.5.C - (Part-1) -A-2019
o e sl ' (For all sessions)

- () u’?

I

#ﬁd:lﬁm
2%5=10 Uz A ﬂéL:..J:'::..uﬂJJbu-‘?

2 /’J a2 LJ!TLS.!

i’gdr"luﬁe’_./?)’ yr‘"lu"uJP
L A i
ggfju/uaﬁﬂfy[ﬂ i

—G-ZEJ!-;:;J/U:J Usssl
_‘;E’q:;.gs,IKwﬂléigﬁJ A
-iiii’/’?tfub:’ﬂlf"w'ﬁ
éfJW'J{JWLquJF

vV
Vi

Vi

Viii

2x5=10 #Uu[-l.?/‘{’_'l.rfif(}/lrﬁ_.L}f::..l_}:(fjbu-:}

-

"r_.:/lf(r-_"-d s I 5T T

“ua_rbru*bﬁ“‘gfy"'
_th;b:?r_dekt,)ﬂLa[.dAJJg
_iadvj?;;.;f U:::.. =

qf/fr'ﬁ..-”ud’{fﬂ = JJFL_",{/ JL;JI

E‘:"_..d.?" .A-"‘ Lﬁ;

_dE funs. IE’Jf;;fc_’,i{_.cf P

A
i
i
iV
A
Vi
Vi

Viii

2x5=10 ‘gg._f f?/".{:plr?léta.(jf:_;ﬂd;w-ai

i. Define stress and strain and write their units. d’gj‘:"iuwc_{r_ﬂ/{fu ,,-rquJ =
ji. Define Young's modulus. gii(-ﬁft;uj!:r;ﬁ— i
iii. Why does the atmospheric pressure vary with height? Se_ b Jr U ALk 2y o\ i
iv. What is meant by bimetallic strip? pr:.ﬂ_,firra.dfdlﬂw: v
v. How does heat affect on the motion of molecules of a gas? “LEML-"KHerJrJ)gQLLJfJ( V
vi. Why double walled glass vessel is used in thermoflask? ?g_drdbfiu/ Ja L i /J»’dlurhdfud/mf Vi
vii. How does heat reach us from sun? “:—_u;‘": ol J(T;:_.f,,,.rr._.—bf Vi
viii. Explain the impact of green house effect in global warming? :_,{ el L \.,-GJ—UF Lu‘fu‘ sy i viii
Section -II ) >
Note: Answer any two questions from the following. = 9x2=18 -LJ‘)}/....-LLPZ._«HJ:{» c.dfc.pddjb;: WLy
5. (a) Derive third equation of motion with the help of 04 pHE I:Lxd/-*&.ﬁ;.-_.uJ_ﬂf(E & () 5
speed-time graph.
(b) A body of 5kg is moving with a velocity of 10mS1. Find 05 (/=T d s 10mS1 ALl ¥ 5 (L)
the force required to stop it in 2 seconds. ;ﬁ;:b’wfjshrj_.{icfuu‘ﬁ? :ﬁl
6. (a) Define Kinetic energy and derive its formula. 04 é,’f;lﬂ:’;bli’ub:la_{...nfj’dlﬁﬂ .[idf () .6
KE = -%Hﬂ?z KE = %nwz
(b) A mechanic tightened the nut of a bicycle using a 15cm 05 :-..uJ/"iﬁcmf@w:’JZODN_ﬁ*‘bﬁ ()
" long spanner by exerting a force of 200N. Find the torque &FJL”JEUIJJI_:_LMJK&L
that has tightened it.
_7. (a) Define specific heat. How would you find the specific 04 J,J_,,f;[fr} Jf‘_f J)L:J/‘J.-vff_.—;if a7
heat of a solid? fe_ Qe e
(b) A wooden block measuring 40cm x 10cmx5cm has a 05 K.:./(Z.Lf/(f Lu"lr 40cm x 10cmx5cm (o)
mass 850g. Find the density of wood. it .rr[":l"‘u"';Jd/g;.rifBSDJL
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Time:

. A iz '.:w:..__,fyr.._..«h?u’*rpf_?éff:JDJ:F,C.E.A@U:?;-@_{.?ZJ?;;ﬁg{Q?Q'ﬁd%ﬁﬁ%}&!fﬁﬁ@ﬂffr’ﬁ&}

Grou p—-II-%.«:f

(u%/f)u';

15 Minutes &#15:e% . i 12:/4

S S SRV I3 S usLD | C,Be A szl

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question

are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

1.1. The least count of meter rod is:
(A) Tmm (B) 0.1mm
2. The motion of pendulum of clock is:
(A) Linear motion /A
. (C) Rotatory motion ¥ 2
3. The formula used to find centrifugal force is:

A) L ®)
f?'ﬂ-’z

my :

4. Spring balance is used to measure.
(A) Mass (i
5. Find the magnitude of force if its perpendicular

componentis are :Fx=4N, and Fy=3

(A) 5N (B) 16N

6. Value of g on Mars is:
(A) 4.73 (B) 3.73

7. A body of mass 2kg has K.E=25J. Its speed is:
(A) 50mS™ (B) 12.5mS™

8. The value of atmospheric pressure at sea level is nearly:

(A) 110300Pa (B) 103100Pa

9. In Einstiens mass energy relation C represents:
(A) Speed of Sound Az ST
(C) Speed of electron (w12

(B) Temperature ﬁy:,}

ez 11
(D) 0.001m
_.::_JJ‘:L,:’&.!’JH:!;{&:JLK 2

(C) 0.01mm

(B) Vibratory motion -erﬁ Al
(D) Random motion u?rrj:;x ;
e KIS 3

© m’ o) m’
¥V ; ;'2
*%&beELJJJﬁJ/S 4
(C) Force s (D) Time [

SELG L 1S il u__/pw.m,fm_.g 5
Fx=4NsIFy=3N - siinf

(C) 9N (D) 7N
-_-r;—u'-‘-‘flf'g'e;z?/ 6
(C) 8.87 (D) 1.62
it~ 250 KESF LL 2 7
(C) 25mS™ (D) 5mS™"

:E.:_}a:_.:,furﬂ.;_f/f”w-!{;ﬁfé’ .8
(D) 100130Pa
e WEC G A, T 9
(B) Speed of light Aix((5w
(D) Speed of earth Lx(ft

(C) 101300Pa

10. The formula of Latent heat of fusion is: . _.:‘:.Jr;ﬁb@;!,?ﬁfm{ 0
(A) AQ =mHf (B) AQ =CHf (€) AQ=mCfAT (D) AQ =mCf

11. Heat capacity of 5kg of water having specific heat equal (.Jg.._@___ﬁﬁ;ﬁm:l;cjj lffaﬂ,?uf a£5kg 11
to 4200JKg 'K is: :4200JKg K o o (Loarie 17§
(A) 5JK (B) 21000JK™! (C) 840JK" (D) 0.0011JK"’

12. The S.I unit of thermal conductivity is: | _;‘;.g.:gs.is’&,xfffcﬂ)} A2
(A) JKgK™ (B) JKg'K" (C) Wm'K" (D) Wm?K™*
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RollNo._________ s (For all sessions)
Gruup—II—.f:f
! &
P hYSiCS (Essay Type) | (4) ‘/(7
. Marks: 48 Time: 1:45 Hours &4 1:45:% . 48: A
Section-I 2x15=30 : 5l >
2-Write short answers of any five parts from the following. 2x5=10 &UJ L*.?/"'é:pliiél.;.af;.dd;bﬂ-z
i. Write the names of two derived quantities and their Sl units. . Ewys i[.'.ubﬂ(LZ.uJ;lw:.?Lu N
ii. Define Plasma Physics and Geophysics. ﬁ(JfJJ?f;:IU{)LJLL Al
iii. What is meant by least count of screw guage? e sl KoL Gy M i
iv. Define scalars and give two exampies. ,.E'U:JQ'JL-':;ufﬁ{._M/”J/w v
v. Differentiate between rotatary motion and circular motion. : _::.L-d/’ Js’/f/;:f;_,ffd AVERY
vi. State Newton's third law of motion and give an example. _é_f};JLa{,ui _,—quu:Hh I,ﬂb’u’ﬂ:g.r.: Vi
vii. What is meant by Graph? el fbfc_._.:lf Vii
viii. Differentiate between rolling friction and sfiding friction. | e bl SIS L i
3-Write short answers of any five parts from the following. 2x5=10 ug!f/"!ﬁ?badfﬁ.uﬁ;hbﬂ-
i. Define resolution of forces. | J/’J/;:’._J Ty i
ii. Define couple and'give an example. -é:dv.fm cf,{....df’d/&/ i
jii. Define neutral equilibrium and give an example. ;dv.fmr -v—-ﬂ/"brf /'Jl.f'r \J2é i
iv. State Newton's law of gravitation and write its equation. ! -t:;'fquJL-’JJIJ/LJlrL)J’h Ku’” :’f Ko iv
v. Why communication satellites are stationed at geo stationary orbit? St L U Ut TS s 1 u""‘%_f v
vi. What is meant by gravitational field strength? - Tl ;M.:...JMNJE o’:'f Vi
vii. Define work. What is its S.I unit? *‘::_lf._.»fe’ufl «J/JJ} Vii
_ viii. Write the names of the parts of solar heating system. < 7 LLur"L(’ Lk viii
4-Write short answers of any five parts from the following. 2x5=10 4‘_’{..«;1.?/‘4:;l?lét;dfc,u.fd’;@u-4
i. Define density. write its formula and S.1 unit. - &S BRI JIJ/JJ‘; A
ii. Define Archimedes principle. -ufubdﬂrKJM;l i
iii. State Hook's law. What is meant by elastic limit? Sesl Ve e A BbI g S I6KL i
" iv. Differentiate between temperature and heat. _Jfgr;u}(ﬁu;rmf/ AV
v. What is meant by lower and upper fixed points? T.::_:/U’.:.-_....\A:’.»«G(;Lal...wl:’ 387 v
vi. Define thermal conductivity. : -J/._.-J/JLF)-"’JJ/ Vi
vii. Why metals are good conductors of heat? ?L,"rr:_!y:u;f /,cf u"” iJ_‘;L"/”“ Vil
viii. What is Leslie's Cube? S W4 A viii
Section -II (332> -
Note: Answef any two questions from the following. 9x2=18 _J/f._.f“.ﬁ:.._«ﬂlﬂ: LJJ(LUEJJZ/JJ WLy

5. (a) Define momentum and explain law of conservation 04 .:j(_absgfu:’béifu/if/mié:mfd’ﬁf () .5

of momentum. .
(b) A bicycle accelerates at 1mS™ from one initial velocity 05 HE10 AT U:Lﬁirr_,tirnS'U’ JJ.:LEI ".rL,@{"i’ L ()

of 4mS™ for 10S. Find the distance moved by it-during & n /I t‘:f_il.bl;:,cj'y L 1mS A
this interval of time. ' é_ﬁ( dodeins)
6. (a) Explaiﬁ interconversion of energy with an example. 04 é(uru::_JVJJxJLJJﬂ () .6
(b) Find the magnitud and direction of a force, if its 05 12N _.ae;ﬁx{u’a.b...fubfw&_,m’m (.__.,)
x-component is 12N and y-component is SN: -« 5N _#vyf -yl
7. (a) Derive the equation: L =1 (1+aAT) 04 L. (14 aAT) c‘r"’Jjﬁ-i =lale () .7
(b) The density of air is 1.3Kgm™, Find the mass of airin 05 £Jk8mx5mx4m,¢1 3kgm 251 ()
room measuring 8mx5mx4m. - c_:.ilzi""’d LKIr:va‘:._/
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